SHARADA RESIDENTIAL SCHOOL, UDUPI
ENTRANCE EXAMINATION -~ CLASS VIII
Duration : 2 hrs. SYLLABUS Max. Marks : 150

Note: This booklet consists of THREE parts. They are:

Part | English 40 mins. | 50 Marks
Part Il | Mathematics 40 mins. | 50 Marks
Part Il | Kannada/Hindi 40 mins. | 50 Marks
(Any ONE Language)
ENGLISH
la) Parts of Speech — Eg. : He works hard — Adverb. [3]
b) Irregular Verbs — Eg. : Choose — chose — chosen. [5]
c) Identify the right spelling : Eg. : benefited / benefitted Ans : benefited. [3]
Ila)  Prepositions : (Use —at, in, on, since, for) [3]
Eg.: They are sitting the garden. Ans.:in
b) Articles: (a, an, the)  Eg.: She is practicing violin.  Ans.: the [3]
c) Write the words denoting groups. Eg.: A of tools. Ans: set [3]
Illa) Genders: Eg.: Bull Ans:Cow [3]
b) Antonyms : Eg.: Borrow x Ans : Lend [3]
IVa) Active Voice and Passive Voice : [3]
Eg.: We make cheese from milk. Ans : Cheese is made from milk by us.
b) Direct speech and Reported speech : [3]
Eg.: Tom said, “I am not free.” Ans : Tom said that he was not free
c) Tenses: Eg.: She (listen) to music. [present continuous]  Ans : is listening [3]
\ Letter writing. [5]
VI Essay writing (Composition) [5]
VII Comprehension : Read the passage carefully and answer the questions. [5]

MATHEMATICS

Syllabus to prepare :

agrwdE

Natural and Whole numbers, factors and multiples, powers and roots.

Operations on fractions, decimals, integers.

Algebra and operations on algebra.

Percentage, Simple interest, Profit and loss.

Angles, Parallel lines, Triangle, Area and Perimeter of triangle and Quadrilateral.

Question paper pattern :

Fill in the blanks : [15x 1 =15]
.27 i i 3
Eg. : 1. The fraction — can be expressed as a mixed fraction as . [Ans : GZ]
2. Square root of 81 is . [Ans : 9]
Choose the correct answer : [15x 1=15]

1. The sum of 21 and 3E
2 4

3 3 3 2 3
4— b 5— 6— d) 8— Ans: 5—
a) c ) 2 c) 2 ) 2 [ 4]

2. The value of 24 is .
a)8 b) 10 c) 16 d) 20 [Ans : 16]
Do as directed : [5x2=10]

1. Express % as a decimal. [Ans : 4.2]

2. What is 20% of 4507 [Ans : 90]




Solve the following :

If 2 angles of a triangle are 65° and 85°, find the third angle. [Ans : 30°]

1 1 1 7 1
Simplify: | 3=of 2= |+|1— of — Ans: 12=
implify ( 2 2} (10 11) [ 2!
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